Firestone

2491

DuaL DicitaL AIR COMMAND

INSTALLATION INSTRUCTIONS

Congratulations onyour purchase ofa Digital
Air Command kit. This kit was designed to provide
inflation control of your air helper springs. Thiskitwill
beanassettoyourvehicle, meeting nearly all of yourair
supply needs.

Please take a few minutes to read through the
instructionsto identify the componentsand learn howto
properly install your Digital Air CommandKit.

NoTE:

The Digital Air Command kit can be used with
allair helperspring products. Ifyouareinstallinganair
suspensionsystem, donotinstall theair linetubingtothe
airspringsasstated inthe suspension system instruction
manual. Ifyouareaddingthe Digital Air Command kit
to anexisting air suspension system, youwill need to
deflate the air springsand remove theair line tubing.

NoTe oN CoNNECTING THE AIR LINE TUBING

Cuttheairlinetubingassquarely as possible.
To connectthe air line tubing to the fittings, push the
tubing intothefittingsasfaraspossible. If foranyreason
the tubing mustbe removed, firstrelease theair pressure
fromtheair helper spring. Push the collar towards the
body of the fitting and then pull out the tubing. To
reassemble, make sure the tubing is cut squarely and
push the tubing back into the fitting.

TooLs NEeDED:

Center Punch 3/16" Drill Bit

9/32" Drill Bit 3/8"Drill

Wire Crimpers 3/8"Wrench
1/2"Wrench 5/8"Wrench
7mmWrench Phillips Screwdriver

PARTS LIST

DIGITALGAUGE 9369 1
AIR COMPRESSOR 9283 1
VALVE BLOCK 9357 1
PRESSURE SENSOR 9054 2
WIRE HARNESS 9371 1
AIRLINE 0938 1
MALEFITTING 3055 1
TEEFITTING 3025 2
3/16" FLAT WASHER 9

1/4" FLAT WASHER

1/4"-20 X 2-1/2"HEXHEAD BOLT
10/32" X 3/4" MACHINE SCREW
10/32" X 1" MACHINE SCREW
1/4"-20NYLOCKNUT
10/32"NYLOCKNUT
VELCROTABS

NYLONTIE

PhrrOONIMEDND

(&)

21-8392

07-10

NAD-37281-2



Firestone

Air Line & Wiring Diagram

RED g
(BATTERY +)

BLACK
(BATTERY -)

WIRE HARNESS &
CONNECTOR

RELAY
(o)
|
BLUE
RED
20 AMP
FUSE RED
[ e
RED(+) g RED/BLUE

—T

(BAT +)

System Operation

TERMINAL NUTS
(TIGHTEN FINGER TIGHT)

mE Jr
{5 BROWN
{39 GREEN
{30 GREY
——————————{70 VIOLET

PRESSURE
SENSORS

VALVE BLOCK
LF/LR RF/RR
—

- -
TO AIR SPRINGS

(SOLD SEPARATELY)

AIR LINE

[

\

(.,

BLACK |_E
(GROUND)

Push the up or down button to set the air springs to the
desired pressure. After the button is released, the system will
inflate or deflate to the set pressure. The system may make
periodic adjustments to maintain the set pressure. The system
will not deflate below 5 PSI and will not inflate past 120 PSI. If
the system pressure is above or below these levels, a warning
will be displayed. To change the display values from PSI to

BAR, or BAR to PSI, press and hold both the up and down

buttons, on the right side, at the same time.

JC

COMPRESSOR

Figure “A”




STeEP 1 — MouNT THE COMPRESSOR
BRASS SLEEVE . . .
COMPRESSOR Beginby removing the negative battery cable. Select
Vil aconvenientlocationto mountthe compressor. Thislocation
= X o should provide ampleair flowand be protected fromairborne
T~ RUBBER debrisand moisture. The mounting surface should berigid to
supportthe compressor. The compressor isoil-lessand canbe
#1032 LOCK #10 FLAT WASHER mounted inany orientation necessary for installation. Make
A= / BRASS SLEEVE sure thatthe wire harnesswill reach form the compressor tothe
. COMPRESSOR .. . . . .
=N FOOT anticipated location of the digital gauge. Installamalefittinginto
—1 the treaded output port on the compressor head, see Figure
=5 (13 7 H - - . =
—1/\|™__ RUBBER A”. Tighten the fitting sufficiently to engage at least two
Eg ISOLATOR . :
— threadswiththe pre-applied thread sealant. DONOT OVER
— \éEOEJIBA'IFE\éG TIGHTEN THE FITTING. Mark the four compressor
10:32x 1" PANHERD 7 \ mounting holes using the compressorasatemplate andacenter
SCREW F1OFLATWASHER punch, thendrill four 3/16" holes. Mountthe compressor using
Figure "B" the supplied 10-32x 1" machine screw, 10-32 nylock nutsand
3/16" washers. See Figure "'B"". Attachthe black wire from

the compressor toaconvenientground source onthe vehicle.
STEP 2 — MOUNT THE MANIFOLD BLock
Selectthe valve block fromyour kitand install the pressure sensorsinto the top of the valve block inthe holes
marked PS1and PS2. See Figure "' A™. Selectaconvenient locationto mount the valve block near the compressor.
Markthe two mounting holesusing the valve block asatemplate and acenter punch, thendrill two 9/32" holes. Mount
the valve block using the supplied 1/4"-20 x 2-1/2" boltsand 1/4" nylock nuts.

SteEP 3 — WIRE HARNESS FORM THE COMPRESSOR AND VALVE BLock

Insertthe red/blue wire fromthe wire harness with the male spade terminal into the female spade terminal
ontheredwire fromthe compressor. The other red wire inthe wire harness with the fuse will be connectedtoa 12
Volt, 20 Amp positive power source. See Figure ""A". Attachthe brown and green wires with ring terminals from
the wiring harnesstothe studs onthe pressure sensor inRF/RR, andthe violetand grey wireswith ring terminals from
the wiring harness to the studs on the pressure sensor in LF/LR. Tighten the nuts on the pressure sensor terminals
figuretight. DONOT OVERTIGHTEN THE TERMINAL NUTS. See Figure ""A™.

STEP 4 — MOUNT THE DiciTAL GAUGE
Thedigital gauge panel must be mounted inadry protected location withaflat mounting surface. Install the
four velcrotabs ontp the back of the gauge and then firmly place the digital gauge panel onto the mounting location.

STEP 5 — WIRE HARNESS FOR THE DiGITAL GAUGE PANEL

Connectthe black wire from the gauge wire harnessto asuitable ground and the red wire to 12V ignition
activated source. Route the wire harness fromthe compressor and manifold block to the gauge. Usethe nylonties
providedtosecurethewire harnesstothe vehicle. Route the wire harnesstoavoid direct heat from the exhaustsystem
andaway fromany sharp edges. Insertthe male connector into the female connector untilaclicking noise is heard.
See Figure "A".

STEP 6 — RouTE THE AIR LINE

Cutasectionofair line tubing that will reach from the compressor tothe valve block. Cuttheair line tubing
assquarely as possible and insert the tubing into the male fitting on the compressor and then into the fitting on the
valve block marked IN. Cutasectionofair line tubing that will reach fromthe valve block to one of the air springs.
Cuttheairlinetubing assquarely as possible and insertthe tubing into the fitting onthe valve block and then insert
the otherend into the air spring. Use the nylonties provided to secure theair line tubing to the vehicle. Route the
tubingtoavoiddirect heat from the exhaustsystemandaway fromany sharp edges. Repeatthislaststep onthe other
airspringand remainingfitting.



STEP 8 — CHECK THE SYSTEM

Withthe Dual Digital Air Command kitand the air springs installed you are ready to test the system. Re-
attachthe negative battery cable. Turnonthevehicle’signition. Pushand holdthe up buttonto inflate theair springs.
The gauge will display how muchair pressureis in the system. Inflate the air springsto 70 psi or the maxair spring
pressure, whicheverisless,and check thefittings forair leaks withasolution of soap and water. Ifaleakisdetected
atatubing connection, check to make sure thatthe tube is cutas squarely as possible and thatitis pushed completely
intothefitting. Thetubing caneasily be removed fromthe fitting by first releasing the pressure fromtheair spring,
then by pushing the collar towards the body of the fitting and holding, then pulling the tube out.

Trouble Shooting the System

Display powers up but it will not inflate or deflate — The red power wire in the wire harness is not con-
nected to the battery.

Both sides blink “Hi”” & *“150" repeatedly and will not inflate or deflate — Two of the wires for the
pressure senders are switched. Gray and Violet goto the LF/LR sender. Brown and Green gotothe RF/RR
sender.

One side blinks “Hi” & “150 repeatedly and will not inflate or deflate but the other side works —
One of the wires for the pressure sender on that side is not connected/making contact with the pressure sender.

The compressor runs continuously, while one side deflates and the other side does nothing, and the

buttons on the controller do not respond — The colored wires on the pressure senders are connected to the
wrong pressure sender. Gray and Violet go to the LF/LR sender. Brown and Green go to the RF/RR sender.

www.riderite.com



